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% Consider the following diagram.

What is the value of x?
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4 Toy Sailboats

Emelina makes toy sailboats as shown below.

Determine the total area of the shaded sails.

Show your work.

A& Consider the diagram below.

167°

43° [

What is the value of y?
a 43°

b 60°
¢ 137°
d 150°
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A& Consider the right triangle below.

Q 15.6m

Line segment XY connects the midpoint
of PQ to the midpoint of PR,

What is the length of XY?

O

»)k Triangle KLM is shown below.
M 7.3cm L

4.2 cm
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Jonah's house is due west of Marshfield and due south of Wildgrove. _
Marshfield is 12 kilometres from Jonah's house and 20 kilometres from f\)

Wildgrove. How far is Wildgrove from Jonah's house, measured in a
straight line?



